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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - I/PART -1
@y : () SewesIsg HamssErsEh el wefldsa]L. 15x1=15
i) Osrhsstul(erer wrIHMH elNewLsaled Wseyd el W
denLenws Casbos(Hs55 GHNULHLar alenulemaryd Cargg
CT(PSaLD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.

g CLrensatlan Liewll @eng iSlaflliug)

(1) Gee LELY (<=,) LrYUTH ADLGHE
(@) Qe BrHwenLged (r) &afl 2 (Heurésbd
The function of Cytokinin is to increase :

(a) cell division (b) differentiation

(c) cell elongation (d)  fruit initiation

emeumd eThg sTramsdlente (PIHihs FOMMLE GLTU FamiSHeTTe) 2 EHTenaL
sLSgleudled FHUL @uieailcvene :

(=) giemerser GCaGeomenmed jenl_&&LIL(HeUSTED

(=) giemersser Gaplll CleaIGamevmed L &&HLILI(HeUST6D

(@) gimeraar el CarblFavseTTed L SHLILIHEISTE

() glemerser GFa@IGameumed enL &&LliLI(Helsre

Conduction of food materials does not take place in mature sieve elements because :
(a) Pores are blocked by callose

b) Pores are blocked by hemi-cellulose

(
(c) Pores are blocked by tyloses
(d) Pores are blocked by celluloses

ComiL ol L menfl STeurs S e CaslBL_(Haefla &mawt U (h D
&CrrCGurGarbgailen ecrameantsEams :

(=4) 7 (=) 12 (@) 5 () 23
Number of chromosome found in gametes of garden pea plant :
(@) 7 b)) 12 (9 5 (d) 23

Luirs sreurmisGerr(h Carbgl euemd Coaneuwinm ClFigsamer &S 6Tgeamen
LweTL(hSGHleumut ?

(=) GA (<=1,) NAA (@) IAA (rF) 2,4-D
What will you use to eradicate the unnecessary plants which grow with crops ?
(@) GA (b) NAA (c) IAA (d) 2,4-D
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HCrrenever ererm Garm oflwssne CCA, CCC, CCU mmib
Gremenlld Bren@ shGEHSmIGET 2 6TeTen.

(1) CCG (<) UGA (@) UAA (rF) AAG
Proline has four codons CCA, CCC, CCU and
(a) CCG (b) UGA (c) UAA (d) AAG

<, evdlCarmidlefl <y evl9rm eqm :

(=) Qe Bl smeurid (<) 015Gsme eI
(Q) eupe Flavg sreuyid () Bifg greuyd
Aeschynomene aspera is a :

(@) Mesophyte (b) Lithophyte

(c) Xerophyte (d) Hydrophyte

waflger o L Cgrearer $&55 eeul_Liler Cedbs wrsdarser @) dlelmbs
swrflssliuGdng ?

(=) smemmen (<=4,) evenLi(pedlerT
(@) BrevLms (FF)  FrevL

Enriched vitamin tablets are produced from the following organism for human
consumption :

(@) Mushroom (b) Spirulina

(¢) Nostoc (d) Yeast
Gaurrggnedger Olmpg Coremmidlarmer.
(<=1) evantiCurGlLruslen (<) Quilengsdler
(@) werrsCamiermevl(Haer () =A&5CHmed
The root hairs originates from :

(a) Hypodermis (b) Pericycle

(c) Trichoblasts (d) Endodermis
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9. srarsdlen Smansg 2 miliselad CUTgeurs srerlupHb S
(=) CaTovemengom (=) evdlafiremensiom
(©) urrerenswT () GCarmremensiom
The tissue generally present in all organs of plant is :

(a) Collenchyma (b)  Sclerenchyma
(c) Parenchyma (d) Chlorenchyma

10. euCur-lesd eravrGent swmflés LwemLHLLD STeurhd :

(=) M&aren Hbweflov (<) Wemhsen mFen

(@) aLGrrur @raren () glCrrur smedl i cGuimaduim
Bio-diesel is extracted from :

(a) Riccinus communis (b) Phyllanthus amarus

(c) Jatropha curcas (d) Jatropha gossypifolia

11. uflGargenen cuansLITL Iqlied eTatn CFTHEMET 2 (heuTdlwel

(1) sCrmeven edlemGeriien (=),) ermiemi wHmID 9FmerL_c

(@) Gswbl wHmb Heed () sy QubsLd HMID anO&sT
Who coined the term biosystematics ?

(a) Carolus Linnaeus (b) Engler and Prantl

(c) Camp and Gily (d) George Bentham and Hooker

12, 1qpmeTene «LIGTeVS@Eh&E T(HSSHSSTL(H :
(<=1) adlevigigen garrursalGasy (<) G-3-P igenant remGeren

(@) wrreren LslGeren (FF) evumells smrurgedCeen
An example for transferase is :

(a) Histidine decarboxylase (b) G-3-P dehydrogenase

() Transaminase (d) Pyruvic carboxylase
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14.

15.

16.

17.

18.
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5 1332 (NP)
@ndHwureiler sriiflennd sreld <2, T (HSET.
(<) 20 (=) 10 (&) 17 () 5
Duration of patent in India is years.
(a) 20 (b) 10 (c) 17 (d 5

@ LomCrrenw @GeurliL(BhiSSHID CLMpLSGeT 2 6Tere.

(=) umeving (<) wrrlGeomsl e

(@) eflemam Grméwim (FF)  QCr& e
possesses anticancerous properties.

(a) Basmati (b) Marmelosin

(c) Vinca rosea (d) Brazzein

aflECsrsamgsamw &S SnbuL s gramhb eefl e :

(1) 400 nm - 700 nm (<) 700 nm - 900 nm

(@) 100 nm - 200 nm (FF) 200 nm - 300 nm

Which of the following wavelengths of light is most effective for photosynthesis ?
(@) 400 nm to 700 nm (b) 700 nm to 900 nm

(c) 100 nm to 200 nm (d) 200 nm to 300 nm

L@&3| - II /| PART - II
sTeneLGIEID oM clleTéa(Ené@ L HID ellenL wefléseb. eflerT ereim 24 -8
&ewoTlq LILIng aflenL_wefldsa . 6x2=12
Answer any six of the following. Question Number 24 is compulsory.
<M&Casluflen cuansiLr_(h Hlenvenw 6T (pg)s.

Write the systematic position of Arecaceae.

QUL D STeurmsGeT @reamget @\ Cerhluweny er(pg)s.
Write the binomial of two rubber yielding plants.

2 14 sriyflepwulen @ WPESHI S DIFBIGET WTENG! ?
What are the two unique facets of Bio-Patency ?

DL eUeFULSS6T LILGTSET Wireneu ?
What are the uses of gene mapping ?
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20.

21.

22.

23.

24.

25.

26.

27.

28.

LIgUITSSD - eUenFwiml.

Define transcription.

sl DNA -eneu 2 (heurd@Geudled mhuBb Cprdger wrene ?
Name the enzymes involved in making hybrid DNA.

paflFCarsamauien ol (HOrss ellenaruiler FOGTLTL ML 6T(LPSIS.

Write the overall equation of photosynthesis.

@aflFsFeuTssSnELL, @ MmLsarssdn@n @l GCu sramiu@mn GCeumiimbhser
gCaeId @) TeuTiqenaT 6T (LGS,

Write any two differences between photorespiration and dark respiration.

&G Saalladmbgl Hlawss dames Coumbhsss.

Differentiate meristematic tissue from permanent tissue.

U@ - I /PART - III
sTemauCuend g mi elarmésEns@ WG e welldsea|b. ellerm eremr
33 -&@ sLLmuwng alenL wefl&Ese]b. 6x3=18

Answer any six of the following. Question Number 33 is compulsory.

QuBSLD WHMID aMO&ST eUSUTL g6 HlanmaeT FCHEID pLpETMIene 6T(LS)Is.

Write any three merits of Bentham and Hooker’s classification of plants.

amaplevgev Crrer-engarandley FTeursdler W eenTULLD WHMID
GUTLILITL 6D 6T (LD&)I5.

Draw the floral diagram and write the floral formula of Hibiscus rosa-sinensis.

QuUAGLTD eréleumm o (Heurdlmg ?

How periderm is formed ?

G&CrmGurGsrden el UL LD eUaThg LTSBIGET GN&EsaL.

Draw the structure of chromosome and label its parts.
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33.

34.

35.
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SSe IHDSSTHD 2 (Heurenr GuTHLaer Gsayd epemdler QuwiTgamen erpd
Sjeupmlen Lwergener GOILIEHS.

Write any three genetically engineered products and mention their functions.

fFLTT b 666 eTemmTed 6TerTe ?
What is Richmond Lang effect ?

g&leb wrrdleme sreurslen WHSHIe) LILIGTSENET 6T(LS)Is.

Write the medicinal value of Aegle marmelos.

2 udli Asmgler i Lellwedle er.Careneuder p&Sluggieud wrg ?
What is the importance of E.Coli in biotechnology ?

C, sraurmisafler geaflefenar wHMD @mer elenar sallgsaflurs BL&S D).
@&aanm sflwmr, geupr ? 2 a1g edllenLenw HluruliLbhSS)s.

“C, plants shows segregation of photosynthetic work.” State whether the statement is
true or false. Justify your statement.

L@&3 - IV /PART - IV
SlemenEG NaTESEERSGD ellenwiefl&seab. 5x5=25
Answer all the questions.
(=) Blwer urrgedlursredlen weafler LiawT gHener saedbarhserme aldlefl.
360608
(<) GanrGuflwb eremmre eraar ? igean (PSSHSHeID Brerdlenat eI (Lpgis.
(a) Describe the flower of Musa Paradisiaca in technical terms.

OR
(b) What is Herbarium ? Write any four significance of herbarium.

(1) e eueneTwmIGeT LD GDILIL cuamTs.

S|6V60G)
(=) GLHS®IWHS UTEVGEOTT SDEODH CTETDTED CTETE ? HSET 6U6HES M 6T
UL S&IL e edleul.
(a) Write short notes on annual rings.
OR
(b) What are concentric vascular bundles ? Explain its types with neat labelled

diagram.
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36.

37.

38.

(=) Yereupd Gerhaener sreur S euerriiy] perpCGur® cuflevsliL(Bss)
afeurfl.

i) ywsGCsrHmTESD (i) euUIGUMIFED
(i) 2 L CFsgHigeo (iv) & 2 (HeUT&HSLD
360605

(=) GEB&CaHmen, epUmeils lewrs Wwrhmwenl b Hlspsflaw afleif.
(euenyuLid aulfl)
(a) Rearrange the following terms based on techniques of plant tissue culture and

explain.
(i) Morphogenesis (i) Hardening
(iii) Inoculation (iv) Embryogenesis

OR
(b)  Describe the process in which glucose is converted into pyruvic acid with the
help of Flowchart.

(=) CuenGLmen urevCUL aufISHLSdlem e HwSHeud wrenel ?
S|V

(=) 551 RNA -afler janwlients UL GG er afleu.

(a)  Write the significance of pentose phosphate pathway.

OR
(b)  Explain the structure of t-RNA with diagram.

(=) () Hloss ameouier @maernh Cuwr wrg ? @& aThss GHDUSMSE

ETTHSG ?
(i) BeossLmoulear QurmerTsry W Hwsgeld gGCsend gbdlener
eT(LDGIS.
360605
(<) DNA bniCsrsens QgTHlnIL LD eTamDId eTamam ? AFH6 HlELpe|Hemner
eT(LDGIS.
(@) (i) What is the binomial of groundnut ? To which family groundnut belongs
to ?
(i) Bring out any five economic importance of groundnut.
OR

(b) Define DNA recombinant technology. Mention its events.
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